
Se
pt
em

be
r



September 2024

RODRUNNER REF NO: LS-BU-246 ADAPTABLE BUICK

Stabilizer Bar Link

Weight: 0,608

ENVISION

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 2014-2021 Front Right K750886, 23359387

Length: 282 Bolt Metric: M12X1,25

RODRUNNER REF NO: LS-BU-247 ADAPTABLE BUICK

Stabilizer Bar Link

Weight: 0,608

ENVISION

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 2014-2021 Front Left K750885, 23359386

Length: 282 Bolt Metric: M12X1,25

www.rodrunnerparts.com 1



September 2024

RODRUNNER REF NO: TR-CH-1031A ADAPTABLE CHEVROLET

Tie Rod End

Weight: 0,828

SILVERADO 1500

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

K2XX 2014-2019 Front Outer 22868912

Length: 140 Bolt Metric: M14X2 Housing Metric: M16X1,5

RODRUNNER REF NO: TR-CH-1031A ADAPTABLE CHEVROLET

Tie Rod End

Weight: 0,828

SUBURBAN

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

K2YC/G 2015-2021 Front Outer 22868912

Length: 140 Bolt Metric: M14X2 Housing Metric: M16X1,5

www.rodrunnerparts.com 2



September 2024

RODRUNNER REF NO: TR-CH-1031A ADAPTABLE CADILLAC

Tie Rod End

Weight: 0,828

ESCALADE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

GMTK2XL 2015-2020 Front Outer 22868912

Length: 140 Bolt Metric: M14X2 Housing Metric: M16X1,5

RODRUNNER REF NO: TR-CH-1031A ADAPTABLE CHEVROLET

Tie Rod End

Weight: 0,828

TAHOE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

GMTK2UC/G 2015-2021 Front Outer 22868912

Length: 140 Bolt Metric: M14X2 Housing Metric: M16X1,5

www.rodrunnerparts.com 3



September 2024

RODRUNNER REF NO: TR-CH-1031A ADAPTABLE GMC

Tie Rod End

Weight: 0,828

YUKON

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

4th Gen 2015-2020 Front Outer 22868912

Length: 140 Bolt Metric: M14X2 Housing Metric: M16X1,5

RODRUNNER REF NO: BC-CH-BS164 ADAPTABLE CHEVROLET

Control Arm Bushing

Weight: 0,396

CAMARO

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

6th Gen 2016- Front Lower 84051644*, 84051643*

Length: 69,4

Performance Ride &
Handling Suspension

www.rodrunnerparts.com 4



September 2024

RODRUNNER REF NO: BC-FD-BS366 ADAPTABLE FORD

Control Arm Bushing

Weight: 0,82

EXPLORER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

U625 2020- Front Lower LB5Z3082A*, LB5Z3083A*

Length: 80,5

TC-FO-108
Control Arm

and Ball Joint
Front Right

Lower
LB5Z3082A

TC-FO-109
Control Arm

and Ball Joint
Front Left

Lower
LB5Z3083A

RODRUNNER REF NO: TR-HY-121 ADAPTABLE HYUNDAI

Tie Rod End

Weight: 0,608

KONA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

SX2 2023- Front Right 56825BE000

Length: 120 Bolt Metric: M12X1,25 Housing Metric: M16X1,5

www.rodrunnerparts.com 5



September 2024

RODRUNNER REF NO: TR-HY-121 ADAPTABLE KIA

Tie Rod End

Weight: 0,608

NIRO

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

SG2 2022- Front Right 56825BE000

Length: 120 Bolt Metric: M12X1,25 Housing Metric: M16X1,5

RODRUNNER REF NO: TR-HY-122 ADAPTABLE HYUNDAI

Tie Rod End

Weight: 0,608

KONA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

SX2 2023- Front Left 56820BE000

Length: 120 Bolt Metric: M12X1,25 Housing Metric: M16X1,5

www.rodrunnerparts.com 6



September 2024

RODRUNNER REF NO: TR-HY-122 ADAPTABLE KIA

Tie Rod End

Weight: 0,608

NIRO

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

SG2 2022- Front Left 56820BE000

Length: 120 Bolt Metric: M12X1,25 Housing Metric: M16X1,5

RODRUNNER REF NO: TC-HY-1268 ADAPTABLE HYUNDAI

Lateral Arm

Weight: 1,094

STARIA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

US4 2022- Rear 55250CG000

Length: 275,5

www.rodrunnerparts.com 7



September 2024

RODRUNNER REF NO: BJ-HY-144 ADAPTABLE HYUNDAI

Ball Joint

Weight: 0,328

KONA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

SX2 2023- Front Lower 54530BE000

Length: 75,3 Bolt Metric: M12X1,25

RODRUNNER REF NO: LS-HY-146 ADAPTABLE HYUNDAI

Stabilizer Bar Link

Weight: 0,378

KONA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

SX2 2023- Front Right 55531BEAA0

Length: 110 Bolt Metric: M12X1,25

www.rodrunnerparts.com 8



September 2024

RODRUNNER REF NO: LS-HY-147 ADAPTABLE HYUNDAI

Stabilizer Bar Link

Weight: 0,378

KONA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

SX2 2023- Front Left 55530BEAA0

Length: 110 Bolt Metric: M12X1,25

RODRUNNER REF NO: AJ-HY-153 ADAPTABLE HYUNDAI

Tie Rod

Weight: 0,666

SANTA FE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

TM 2019- Front 56540P2000

Length: 247 Bolt Metric: M16X1,5 Housing Metric: M16X1,5

Hybrid

www.rodrunnerparts.com 9



September 2024

RODRUNNER REF NO: AJ-HY-153 ADAPTABLE KIA

Tie Rod

Weight: 0,666

SORENTO

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

MQ4 2020- Front 56540P2000

Length: 247 Bolt Metric: M16X1,5 Housing Metric: M16X1,5

Hybrid

RODRUNNER REF NO: AJ-HY-163 ADAPTABLE HYUNDAI

Tie Rod

Weight: 0,714

KONA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

SX2 2023- Front 56540BE000

Length: 310 Bolt Metric: M16X1,5 Housing Metric: M16X1,5

www.rodrunnerparts.com 10



September 2024

RODRUNNER REF NO: TC-HY-268 ADAPTABLE HYUNDAI

Control Arm and Ball Joint

Weight: 3,38

SANTA FE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

SM 2001-2006 Rear Right
Lower

5520326700

Length: 537 Bolt Metric: M14X1,5

Construction Year from:
12.2002

RODRUNNER REF NO: TC-HY-269 ADAPTABLE HYUNDAI

Control Arm and Ball Joint

Weight: 3,38

SANTA FE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

SM 2001-2006 Rear Left
Lower

5520426700

Length: 537 Bolt Metric: M14X1,5

Construction Year from:
12.2002

www.rodrunnerparts.com 11



September 2024

RODRUNNER REF NO: TC-KI-848 ADAPTABLE KIA

Control Arm and Ball Joint

Weight: 4,604

SEDONA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

UP 1999-2005 Front Right
Lower

RK620043, 0K55234300A

Length: 326

RODRUNNER REF NO: TC-KI-849 ADAPTABLE KIA

Control Arm and Ball Joint

Weight: 4,604

SEDONA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

UP 1999-2005 Front Left
Lower

RK620042, 0K55234350A

Length: 326

www.rodrunnerparts.com 12



September 2024

RODRUNNER REF NO: AJ-LX-393 ADAPTABLE LEXUS

Tie Rod

Weight: 0,488

IS200t

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

XE30 2014- Front 4550330160

Length: 173 Bolt Metric: M14X1,5 Housing Metric: M16X1,5

YEAR ONLY
2014-2020

RODRUNNER REF NO: AJ-LX-393 ADAPTABLE LEXUS

Tie Rod

Weight: 0,488

IS250

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

XE30 2014- Front 4550330160

Length: 173 Bolt Metric: M14X1,5 Housing Metric: M16X1,5

YEAR ONLY
2014-2020

www.rodrunnerparts.com 13



September 2024

RODRUNNER REF NO: AJ-LX-393 ADAPTABLE LEXUS

Tie Rod

Weight: 0,488

IS300

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

XE30 2014- Front 4550330160

Length: 173 Bolt Metric: M14X1,5 Housing Metric: M16X1,5

YEAR ONLY
2014-2020

RODRUNNER REF NO: AJ-LX-393 ADAPTABLE LEXUS

Tie Rod

Weight: 0,488

IS350

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

XE30 2014- Front 4550330160

Length: 173 Bolt Metric: M14X1,5 Housing Metric: M16X1,5

YEAR ONLY
2014-2020

www.rodrunnerparts.com 14



September 2024

RODRUNNER REF NO: TC-M-1398 ADAPTABLE MERCEDES

Control Arm and Ball Joint

Weight: 2,23

S-CLASS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

W223 2020- Front Lower
Rearward

2233303403, A2233303403

Length: 379,5 Bolt Metric: M16X1,5

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-ME-BS291
Control Arm

Bushing
Front Lower

Rearward Inner
2063305102*, 2063305202*

BC-ME-BS339
Control Arm

Bushing
Front Lower
Rearward

2233303403*, A2233303403*

4matic

RODRUNNER REF NO: BC-ME-BS339 ADAPTABLE MERCEDES

Control Arm Bushing

Weight: 0,198

S-CLASS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

W223 2020- Front Lower
Rearward

2233303403*, A2233303403*

Length: 60

4matic

TC-M-1398
Control Arm

and Ball Joint
Front Lower
Rearward

2233303403, A2233303403

TC-M-1388
Control Arm

and Ball Joint

Front Right
Lower

Rearward

2233303603, A2233303603

TC-M-1389
Control Arm

and Ball Joint

Front Left
Lower

Rearward

2233303503, A2233303503

www.rodrunnerparts.com 15



September 2024

RODRUNNER REF NO: TC-PO-539 ADAPTABLE PORSCHE

Control Arm and Ball Joint

Weight: 0,976

PANAMERA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

970 2009-2016 Front Upper 97034105123, 97034105122

Length: 202 Bolt Metric: M12X1,5

YEAR ONLY
2014-2016

RODRUNNER REF NO: BJ-RA-124 ADAPTABLE RAM

Ball Joint

Weight: 0,9

2500

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

4th Gen 2011- Front Lower 68216182AB, 68216182AA

Length: 101,5 Bolt Metric: M22X1,5

YEAR ONLY
2014-

www.rodrunnerparts.com 16



September 2024

RODRUNNER REF NO: BJ-RA-124 ADAPTABLE RAM

Ball Joint

Weight: 0,9

3500

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

4th Gen 2011- Front Lower 68216182AB, 68216182AA

Length: 101,5 Bolt Metric: M22X1,5

YEAR ONLY
2014-

RODRUNNER REF NO: TC-RA-208 ADAPTABLE RAM

Control Arm and Ball Joint

Weight: 2,088

1500

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

5th Gen 2019- Front Right
Upper

68282382AC

Length: 226,5 Bolt Metric: M14X1,5

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-DO-BS021
Control Arm

Bushing
Front Upper 68227900AB*, 68227901AB*

www.rodrunnerparts.com 17



September 2024

RODRUNNER REF NO: TC-RA-209 ADAPTABLE RAM

Control Arm and Ball Joint

Weight: 2,088

1500

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

5th Gen 2019- Front Left
Upper

68282383AC

Length: 226,5 Bolt Metric: M14X1,5

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-DO-BS021
Control Arm

Bushing
Front Upper 68227900AB*, 68227901AB*

RODRUNNER REF NO: LS-T-126 ADAPTABLE TOYOTA

Stabilizer Bar Link

Weight: 0,544

SIENNA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

XL40 2020- Front 4882008040

Length: 300 Bolt Metric: M12X1,25

www.rodrunnerparts.com 18



September 2024

RODRUNNER REF NO: TC-T-1558 ADAPTABLE TOYOTA

Lateral Arm

Weight: 0,882

CAMRY

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

XV30 2001-2006 Rear Right
Lower

4873048070

Length: 435

RODRUNNER REF NO: TC-T-1559 ADAPTABLE TOYOTA

Lateral Arm

Weight: 0,882

HIGHLANDER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

XU20 2001-2007 Rear Left
Lower

4874048030

Length: 435

2WD

YEAR ONLY
2001-2003

www.rodrunnerparts.com 19



September 2024

RODRUNNER REF NO: AJ-TS-103 ADAPTABLE TESLA

Tie Rod

Weight: 0,608

MODEL S

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 2012- Front 600697200A, 107080100E,
102783100E

Length: 246,5 Bolt Metric: M14X1,5 Housing Metric: M16X1,5

RODRUNNER REF NO: AJ-TS-103 ADAPTABLE TESLA

Tie Rod

Weight: 0,608

MODEL X

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 2015- Front 600697200A, 107080100E,
102783100E

Length: 246,5 Bolt Metric: M14X1,5 Housing Metric: M16X1,5

www.rodrunnerparts.com 20



September 2024

RODRUNNER REF NO: BC-TS-124 ADAPTABLE TESLA

Lateral Arm Bushing

Weight: 0,55

MODEL S

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2021- Rear Lower
Rearward

142045200D*, 142045200E*

Length: 140

www.rodrunnerparts.com 21


